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This research aims to determine the inventory level for use in production planning (a case
study of a fiber cement plant). To have the appropriate inventory level, storage inventory cost
should be reduced and more than 90 per cent of the customer requirements should be met. The
production planning that was originally based on the sales target caused errors and the inventory
volume exceeded actual demand. As a result, the cost of storing inventory was high. Two product

groups in two main production lines were studied.

The researcher collected four years of sales volume data to forecast 1-year sales volume
by selecting an appropriate forecasting method for each group. The result with the fewest errors
was selected. Two possible inventory control policies were selected, namely, (s, Q) and (R, S), to
simulate and compare the cost of inventory storage, using the Microsoft Excel program.

A method was then selected that lowered cost and could meet more than 90 per cent of the

customer requirements.

Based on the simulation results, (R.,S) policy which is a system that periodically monitors
inventory, was selected for group 1 (R=5 days and S= 2,500 tons), and (s,Q) policy, which is a
system that continuously monitors inventory, was selected for group 2( s=3,000 tons and Q=300
ton ). When applying the results to control the inventory levels in 2017, it was found that 63.39
per cent of storage cost could be reduced and more than 90 per cent of the customer requirements

could be met.
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